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COMPUTER SCIENCE AND:. APPLICATIONS - 1I

Consider an undirected connected graph.

If w is the minimum weight among all

edge weights and e is the specific edge of

weight w, which of the following
statement is false ?

(A) There is a minimum spanning tree
containing e.

(B) 1If e is not in a minimum spanning
tree T, then in the cycle formed by
adding e to T, all edges have same
weight.

(C) Every minimum spanning tree has
an edge of weight w.

(D) e is present in every minimum

spanning tree. -

If A is a proper subset of B (i.e. A c B, but |

A # B), we write :

(A) AZB
(B) A#B
(C) AcB
© AG®

How many different rearrangements are
there for the letters in the word BABAMS
if two A’s are never adjacent ?

(A) 24
(B) 144
(C) 120
(D) 180

The regular
(a+b)"a(a+b)"a(a+b)” is representing :

expression

(A) The set of all strings containing
exactly 2a’s.

(B) The setof all strings containing 2a’s.

(C) The set of all strings containing the
substring aa.

(D) The set of all strings containing
atmost 2a’s.

Consider the graph below :

@A—®—O
|
@—©

What should be the labels of nodes
marked 1 and 2 if the breadth first
traversal yields the list ABCDE?

(A) D and E respectively
(B) E and D respectively
(C) wunpredictable

(D) insufficient information to decide
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Hexadecimal equivalent of (110011010),

is :

(A) (19A)46
(B) (CD0)44
(©) (DCO)4

(D) (199)46

A product of sums expression for the

function BD+CD is :
(A) (B+C)(D+D)
(B) (B+D)(C+D)
(C) (B+D)(C+D)

(D) (B+D)(C+D)

Total number of swapping to sort the
following list

10, 20,15, 8, 5,7
using bubble sort is :
Ay 11

B) 15

© 12

(D) None is correct

9%

10.

The scope resolution operator usually

(A) limits the visibility of variables to a
certain function

(B) tells about what the base-class that
a class is derived

(C) can specify the function for which
the object of the derived class should
access

(D) resolves ambiguities,

What is the output of the following
code ?

#include<stdio.h>
main()
{
int var=>5;
printf(“%d”, var= + +var= =6)
}
A) 12
(B) 6
< 1

(D) 0

SPACE FOR ROUGH WORK / % &1 & o g
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11.°

12.

HF e

:What is the output of following code ? 13.

#ifndef include<stdio.h>

" void main()

{

#enciif ‘
printf(“ %d”, 900*90/90);
}

(A) 900

(B) 171

(C) 90

(D) 271

14.

What will be printed if following code

executed ?
#include<stdio.h>
#include<conio.h>
main()
{
clrscr()
printf(.6 +, CHATISHGARH)
(A) Runtime Error
(B) CHATISHGARH
(C) CHATISH

(D) GARH

Suppose a relation is in 3NF. Still the
relation may have some data redundancy
because there may exist :

(A) Non-trivial functional dependencies
involving prime attributes on the
right hand side.

(B) Non-trivial functional dependencies
involving prime attributes on the left
hand side.

| (C) Non-trivial functional dependencies

involving only prime attributes.

(D) Transitive functional dependencies.

A relation R has the attributes A, B, C, D,
E and satisfies the following set of FDS :

A - BC
B - D
CDh > E
E - A

How many candidate keys are there ?
(A) 1
(B) 2
© 3

(D) 4
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15.

16.

17.

Which of the following is true ?
(A) A relation in 3NF is also in BCNF

(B) There is no relation between BCNF
and 3NF

(C) A relation in BCNF is also in 3NF

(D) A relation in BCNF is in 3NF but
not in 2NF

Which one of the following is not a part
of the ACID properties for database
transactions ?

(A) Atomicity
(B) Consistency
(©) Isolation

(D) Deadlock free

Which of the following is true ?'

(A) InaB™ tree data can be processed
randomly.

(B) InaB™ tree data can be processed
sequentially.

(C) Ina BT tree every node differ in
height be more than one.

(D) BT tree does not have a right child.

18.

19.

20.

Which of the following takes O(l) time to
find an element in a list?

(A) Linear search
(B) Binary search
(C) Hashing

(D) Breadth first search

In an undirected graph of v vertices and
e edges, the sum of the degree of each

vertex is equal to :
(A) 20

(B) (2v-1)/2
(C) 2e

(D) e?/2

In a queue, insertions can take place only
at the other end called :

(A) front
(B) rear
© top

(D) bottom
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21. Distance Vector Routing is generally  25.

22.

23.

24.

i)referred over Link State Routing

because _ y
(A) Distance vector converges faster
than Link state
(B) Distance vector allows multiple
routing metrics
(C) Distance vector 'requires less
memory for routing table
(D) Distance vector requires more 26.
memory for routing table
“Packet filter firewall operates on which
of the following layers ?
(A) Network and Application Layer
(B) Network and Transport Layer
(C) Transport and Application Layer
(D) Physical and Application Layer A
The length of port address in TCP/IP is :
(A) 32 bits
(B) 48 bits
(C) 16 bits
(D) 64 bits
28.

Forwarding and Routing are two main

important functions carried out by which

layer ?

(A) Physical

(B) Data link
(C) Network
(D) Application

What is the device used in System
Software for connecting a number of
devices to a controller ?

(A) Daisy Chain
(B) Markov Chain
(C) Deterministic Auto-mata

(D) Directed Acyclic Graph

A system program that set up an
executable program in main memory
ready for execution is :

(A) LEX
(B) SCANNER
(C) Editor
(D) Loader

Which of the following is used in nested

macro-expansion ?
(A) FIFO rule

(B) LIFO rule
(C) LILO rule
(D) Priority rule

The Critical Section :

(A)

is created for a specific amount of
time by a user.

(B) is used to avoid deadlocks.

(C) is where shared resources are

accessed.

(D) is used in multitasking.

SPACE FOR ROUGH WORK / % & & & s
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29,

30.

31.

32.

Which is the main unit of UNIX which is
responsible for maintaining all the
important abstraction of the Operating
System including virtual memory and
processes ?

(A) Kernel

(B) System Libraries

(C) System Utilities

(D) Daemons

The page replacement algorithm which
gives the lowest page fault rate is :

(A) LRU

(B) FIFO

(C) Optional Page Replacement

(D) Second chance algorithm

Suppose a processor is in Blocked state
waiting for some i/o service. When the
service is completed, it goes to :

(A) Running state

(B) Suspended state

(C) Ready state

(D) Terminated state

In a multi-user OS, 20 requests are made
to use a particular resource per hour on
average. The Probability of having no
request in 45 minutes :

(A) e™®
(B) e—15
(C) 1-e=?
(D) 1—e-10

33.

34,

35.

36.

“Cyclomatic Complexity” is computer for

(A) To write the Code

(B) To design the Test Code .
(C©) To find the Classes design
(D) To find the Database design

The tools that supports different stages of
Software development life cycle are
called : S ea
(A) CASE tools

(B) CAM tools

(C) SDLC tools

(D) CARE tools

Pfoponents of 'a‘gﬂe sof'twaredevelopment
take great pains to emphasize the
importance of : |

(A) Coding factor

(B) People factor

(@) Analysis factor

(D) Testing factor

A Generic process framework for
software engmeermg con51st of five
framework activities :

(A) Communication, Planning,
Modeling, Construction and
Deploy‘menf '

(B) Review, Feedback, Framing,

Forming and Design-

(C) Coding, Algorithm, Process, Plan,
and People

(D) Testing, Persons, Party, Program
and Plan
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37.

38.

39.

40.

“Smart City” is evolved from which type  41.

of E-commerce ?

(A)
(B)

©)
(D)

Which of the following correctly defines 42

Business to Customer E-commerce
Business to Government
E-commerce

Customer to Customer E-commerce

Customer to Business E-commerce

Data Scrubbing ?

(A) A process to reject data from the
data warehouse and to create
necessary indexes

(B) A process to load the data in the
data warehouse and to create the
necessary indexes

(C) A process to upgrade the quality of
data after it is moved into a data
warehouse

(D) A process to upgrade the quality of
data before it is moved into a data
warehouse

Frame relay is a: 43.

(A) Datagram Network

(B) Virtual Circuit Network

(C) Virtual Private Network

(D) Virtual Control Network

A fault simulation testing technique is :

(A)
(B)
©)
(D)

Stress testing
Unit testing
Mutation testing
Robust testing

MOV A, 11H is from which type of
addressing mode ?

(A)

(B) Register to immediate

Immediate to register

(C) Register to memory

(D)

Memory to register

What is the output of the following
program ?

MOV A, 05H

MOV B, 07H

SUB 05H

MOV C, A

HLT

(A) A=00H, B=07H and C=00H
(B) A=05H, B=02H and C=05H
(C) A=02H, B=02H and C=00H
(D) A=0CH, B=00H and C=0CH

Suitable Addressing Modes for program
relocation at runtime are :

(4)

Absolute addressing and Indirect
addressing

(B) Absolute addressing and Base
addressing

(C) Base addressing and Relative
addressing

(D) Absolute
addressing and Indirect addressing

addressing, Base

SPACE FOR ROUGH WORK / 1% &/ & fod @
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44.

45.

46.

47.

Zero address instruction format is mainly 48,

used in :

(A) Von Neuman architecture
(B) Stack organized architecture
(C) RISC architecture

(D) CISC architecture

Microprocessor is :

(A) Complex Asynchronous sequential
digital logic circuit

(B) Complex Synchronous sequential
digital logic circuit

(C©) Complex Combmatlonal digital
logic circuit '

(D) Complex Combinational Analog
logic circuit

The most relevant addressing mode to
write position independent code is :

(A) direct mode

(B) indirect mode

(©) relative mode

(D) indexed mode

Which statements are correct related to 49.

data partitioning ?

(a) Efficiency

(b) Local optimization
(c)  Security

(d) Recovery and uptime
(e) Load Balancing
Code :

(A) (@) and (b)

B) (@), (), (©), () and (e)
(©) (d)and (e)

(D) (9) (d) and (¢)

Suppose 1(ABC) and s(ACDE). Assume
that ac Dom(A), be Dom(B), ce Dom(C)
and de Dom(D). Which of the following
expressions are legal to carry out ?

(a) rUs
(b) w (@Nw (1)

() O9py4 (1)

@ s
Code
(A) (b)

(B) (a) and (d)

(©) () and (c)

(D) None of these

Which of the following is not true about
Audit trail in DBMS ?

(A) Itis important for database security

(B) It reduces the performance of
Database Management System

(C) It enables DBA to track the use of

database resources

(D) It enables users to see only a small
part of the database

SPACE FOR ROUGH WORK / % & & forir srg
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50.

Consider the following relational
schema :

Sailor (sid : integer, sname : string,
rating : integer, age : real)

Reserves (sid : integer, bid : integer,
day : date)
Boat (bid
color : string)

! integer, bname : string,

Write a query to find the sids of all sailors
who have reserved red boats but not
green.

(A) SELECT sid

FROM Sailors S, Reserves R, Boat B

WHERE  sid=R.sid  AND
R.bid=B.bid AND B.Color =" green’
EXCEPT

SELECT S, Sid

FROM Sailors S,, Reserves R,,
Boats B2

S,.5id =R,.Sid AND R,.bid =B,.bid
AND B,.Color =‘Red’

(B) SELECT Sid
FROM Sailors S, Reserves R, Boat B

WHERE Sid =R.Sid AND
R.bid =B.bid AND B.Color<>'Red’
EXCEPT

SELECT S,.Sid

FROM Sailors S,, Reserves R,,
Boats B,

S,.5id =R,.Sid AND R,.bid =B,.bid
AND B,.Color =“green’

©

(D)

SELECT S.Sid

FROM Sailors S, Reserves R,
Boats B i

WHERE Sid =R.Sid AND
R.bid =B.bid AND B.Color = ‘red’

EXCEPT
SELECT S,.Sid

FROM Sailors S,, Reserves R,,
Boats 82

S5,.5id =R,.Sid AND R,.bid =B,.bid
AND B,.Color =“green’

SELECT Sid
FROM Sailors S, Reserves R, Boat B

WHERE Sid =R.bid AND
Rbid =B.bid AND B.Color ="green’

EXCEPT
SELECT S,.Sid

FROM Sailors S,, Reserves R,,
Boats B,

S,.5id = R,.Sid AND R,.bid= B,.bid
AND B,.Color<>"red’

SPACE FOR ROUGH WORK / 1% %1 & ot g

0128/ TFU-COMPSC/ELG-II



51.

52.

Which of the following technique in
Computer Graphics is not a general

transcend interaction technique ?
(A) Resolution Technique

(B) Specitic Direction Preference

Technique

(C) Specific Positioning Technique

(D) Specific Feedback Technique

Consider the relation

(name, sex, supervisorﬁname) with

employee

name as the primary key. What does the
following Tuple relational calculus query
produce ?

{e.name/employee e AV (x)[7 employee
e(x) V x.supervisor_name# e.name V

x.sex = male]}

(A) Name of employees with male

supervisor

(B) Name of employees with no

immediate female supervisor

(C) Name of employees with no

immediate male supervisor

(D) None of the above

53.

54.

55.

AVI stands for :

(A) Audio Video Interleaved

(B) Audio Visual Interface

(C) Animation Video Interleaved

(D) Architectural Video Interleaved

Which of the following frame type is not
used by video compression algorithms ?

(A) Iframes.
(B) P frames
(C) B frames

(D) L frames

What is the aspect ratio of 12 inx 16 in

display ?
(A) 2:3
(B) 3:4
(C) 4:3
(D) 3:2
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56.

57.

Y 58.

Refer to the figure. Point P is rotated by
6°. Then value of x' and y' are :
(A) x'=rxcosb +rysinf
y'=rycosd —rxsinf
(B) x'=rsinb—rcosd
y' =rcosb + rsin6
(C) x'=xcosb—ysind
y'=xsinf + ycosb

(D) x'=sin®+cosb 59.

y' = cosb —sind

Consider the following code given in table

for a message U.

U Codel Code?2 Code3 Code4

(Input) (Cy) (C) (C) (Cy)
a 0 0 10 0
b 0 010 00 10
c 1 01 11 110
d 1 10 110 111

Which is the following true about the

codes ?

(A) C singular, C, nonsingular, not
uniquely decodable, C; uniquely
decodable not prefix free, C, prefix
free trivially decodable

(B) C, G, G, C, prefix free decodable

(C) C,, C;singular, C;, C4 non-singular

(D) None of the above

For a binary symmetric channel with
transmission probability P=10"2 the
channel capacity is :

(A) 0.919

(B) 0.818

(C) 0.717

(D) 0.617

Consider the following macro :

Macro Add X, Y
LoadY
Mul X
Store 'Y
End Macro
Xand Y are :

(A) Identifiers
(B) Variables
(©) Actual parameters

(D) Formal parameters

SPACE FOR ROUGH WORK / T% &1 & &9 g
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60.

61.

Which of the following is not correct ?

(a) shorts are at least 2 bytes big

(b) longs are at least 3 bytes big
(c) shorts are never bigger than ints

(d) ints are never bigger than longs

’ Code :

(A)  (b) and (c)
(B) (9)and (d)

© (®
(D) (a) and (b)

Match the following :

List-I List-II
(@ :: (i) direct member
(b) . (i) global scope
() - (iii) subscript
(d [] (iv) indirect member
e 0 (v) type construction
Code :

@ () (© (@ ()
(A) @ O @) @ (v
(B) O @@ @ @@
© @) @ @) ) @
(D) (@) @(v) ) @ @

62.

Which of the following grammar are
LR(0) ?

(@) S— AA
A - aA
A>b

() E—>T+E|T
T—id

() S-—aB
A >ba
A
B - Bb
B¢

(d) S — AaAb|BaBb
A e
Boe

Code :

(A) (a) and (b)

(B (b)and (0

(©) (b) and (d)

(D) (a) and ()
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53.

Choose the correct statements :

(a) Every SLR(1) grammar is LALR(1)
but every LALR(1) need not be
SLR(1).

(b) CLR(1) parser is more powerfull
than other parsers.

(c) Number of entries in LALR(1) parse
table is less than equal to entries in
CLR(1) parse table.

(d) Every LALR(1) grammar is CLR(1)
but every CLR(1) need not be
LALR(1).

Code :

A @ ©, @

(B)  (b), (a), (d)

©) (@), ®) (©

(D) All of the above

State which of the following in virtual

functions is correct ?

(A) Virtual function can group objects
of different classes so that they can
be accessed by the same function
code.

(B) Virtual function use the same
function call to execute a member
function of objects from different
classes.

(C) Virtual functions can be used to
access a class’s private data even
though it is not a member function
of that class.

(D) Virtual functions can create an
array of pointers so that they can
hold pointers to derived classes.

65.

66.

67.

UDP version with congestion control is :

(A) Datagram congestion control

protocol

(B) Stream control transmission
protocol

(C) Structured stream transport

protocol

(D) None of the above

__ translates internet domain

and host names to IP address.

(A) Domain name system

(B) Routing information protocol
(€) Network time protocol

(D) Internet relay protocol

Find the Hamming distance between two
pairs of words :

(@  d(000, 011)

(b)  d(10101, 11110)

Code :

(A) 2and3
(B) 3and4
(C) 3and?2
(D) 4and 3
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68.

69.

70.

A slotted ALOHA network transmits 71.

200 bit frames using a shared channel
with a 200-kbps bandwidth. Find the
throughput if the system produces
1000 frames per second.

(A) 369
(B) 368
(C) 367
(D) 366

A file of size 10° bits is to be transmitted
from node A to node B which are
connected by 2 routers and 3 links. Each
link length is 100 km and has a speed of
108 ms~ L.

What will be total transmission time if
delay is not zero ?

(A) 3100 seconds

(B) 3003 ms

(C) 3003 seconds

(D) 3100 ms

Two computers C; and C, are configured

as : 73.

C, : IP - 203.197.2.53/255.255.128.0
C,:IP - 203.197.75.201/255.255.192.0
(A) C, thinks C, on same LAN

(B) C, thinks C; on same LAN

(C) C;and C, are both on same LAN
(D) C, and C, are on different LAN

72.

Suppose T,(n) and Ty(n) are the time
complexities of two program fragments
P, and P, where T,(n) =O(f(n)) anc
Ty(m) =O(g(m))-

What is the time complexity of progran
fragment P; followed by P, ?

(A)  O(max(fn), gn))
(B)  O(ftn)-g(m))

(C) O(min(ftn), g())

(D) O(ftn)/g)

In a linked list, the pointer of the last node
contains a special value, called the
pointer.

(A) NULL
(B) ZERO
(C) LINK

(D) NEXT

A complete graph with n vertices has how
many Hamiltonian circuits ?

(A) (n-1)/2
(B) (m—1)
(C) n!

(D) (n-1)!/2
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74.

A given connected graph is Euler graph
iffitisa:

(A) All vertices of the graph are of odd
degree

(B) All vertices of the graph are of even
degree

(C) Number of vertices are of even
degree

(D) Number of vertices are of odd

degree

The diagram which depicts the flow of
task between various components of a

system developed uSing OOAD s :

(A) Class diagram

(B) Activity diagram

(C) Use case diagram

(D) Sequence diagram and
implementation diagram

A class is defined as a collection of :

(A) Similar objects

(B) Similar objects with shared
attributes

(C) Similar objects with shared
attributes and behaviours

(D) None of these

77.:

78.

(b)

©
(d)

(e)

How to define a pointer to the member of
Class ?

Class A
private :
int m;
public :
void show();
%
(A) int A:x*ip=&A:m
(B) int A:*ip=&A;
(C) ' int A*ip=&A;
(D) int A:*ip=A:m;

Match the following :

List-I List-I1

* Private - (i)  Visible to all
- functions’

Protected (i) Multiple -
Inheritance

Public (iii) Friend of the class

Function (iv) Visible to member
function

Can inherit (v) Optional

.the attributes of

two or more

classes

. Code : .

@ (®) © @ ()

(&) @ @ ©) @ @

B @) @ ) @

© @™ O v @ @

O &) @ O @ @
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79.

80.

Weight table
No.

No.
No.
No.
No.

Let us consider that the size estimated for
a software project is 45,000 lines of code.
The average salary paid per Engineer is
T 40,000 per month. Calculate the cost
required if the software is of embedded
type.

(A) 1,58,40,000

(B) 1,39,80,000

(C) 1,38,40,000

(D) None of these

Consider a payroll software that prints
file of employees and a transaction file for
each employee for the current month. It
updates the employee file and produces
an earning report, a reduction report
together with analysis of report. The
software produces three different types
of error messages and is capable of
interest command to print on individually
requested payslip. It also processes a file
containing details of payment to be used
in other activities.

Simple Average Complex

of inputs 3 4 6
of outputs 4 5 7
of inqueries 3 4 6
of files 7 10 15
of Interfaces 5 7 10

Estimate the unadjusted function point :
(A) 60

(B) 62
(C) 64
(D) 68

81.

82.

83.

White box testing is also known‘ as:
(A) Syntax Driven TESting;‘

(B) Functional Testing

(C) Glass Box Testing

(D) Decision Table Based Testing

Which of the following is not a Validation
Method ?

(A) Cause affect Graphs
(B) Boundary Value Analysis'
(C) Inspection

(D) Syntax Driven Testing

Which of the following functions of 1/O

device drivers is incorrect ?

(A) To optimize the system input
output performance

(B) To handle the interrupts that have
arrived from the device

(C) To handle the dead lock prevention

To initiate I/O to the particular
device through I/O Modules

(D)
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85.

value of the Semaphore ?
(A) 10

® o

© 8

D) 6

If there are 3 Page frames, how many
page faults wij occur for foHoWing pbage
reference string using LRy page
replacement algorithm ?

56126364236321261567
(A) 12
(B) 14
©) 09
D) 15

(A) Swapping
(B) Principa] of locality

© Segmentation

87. A*\algoyrithm uses — heuristic

88.

89.

function to search any gog] node,
(A) Admissib]e function

(B) Evaluation function

(C)  Fitness function

(D) Probabilistic function

AO* algorithm has another nhame based
upon its functionah'ty R

(A) Admissible Optimal algorithm

(B) Accurate Optimistic algorithm
(©) AND.OR algorithm

(D) AND-AND algorithm

In the Applications of EXPERT SYSTEM
state which of the following is true ?

(A) PROSPECTOR is the first expert
System developed for Medica]
Personal to diagnose Prospective

‘ diseases,

(B) PROSPECTOR Is an expert system

©) PROSPECTOR is an expert system

(D) PROSPECTOR is an expert system
used for military Personal, guiding
the Prospective path Navigation,

FU—COMPSC /ELG-II

SPACE FOR ROUGH woRrk / B FE % Ry e



90. A Horn clause with no positive literalis 92+ Consider the NPA Machine M stated
sometimes called : ‘ below : :
(A) indefinite clauée
(B) definite clause
Let the Language accepted‘by_M be L.
© goal cl_ause Let L, be the Language accepted by the
NFA My, obtained by changing the
" accepted state toMtoa non-accepting
(D) infinite clause v o .
state and by changing the non-accepting
state of M 0 accepting states Which of
the following is true ?
A) L= 1L
91, Let W be a string of length n in {0, 1" ® L=01
Let L be the set of all substrings of W.
‘What is the minimum number of states In © s L
a Non-deterministic finite automata that
(D) L, =L
accepts L ?
(A) P 93. Which of the following optimi_zatior
techniques are typically applied o1
; loops ? '
® ntl
(A) Peephole optimization
(B) Constant folding
© n
© Removal of invariant computatic
(D) on-1 (D) Invariant computation |
o SpACE FOR ROUGH WORK 7 < W o e e
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4.

(a) Regular Expression

Match all items in Group-1 with correct

options from those given in Group-2.
Group-1 Group-2

(i) Syntax
analysis

(b) Pushdown automata (i) Code

(c) Dataflow analysis

(d) Register allocation

generation

(iii) Lexical
analysis

(iv) Code
optimization

Code :

@ () (o (9
(A) (v) & @) (@)
(B) @) @ () ()
© @ G @ @
D) @) @) () (i)

For solving Non linear programming
problems Khun-Tucker conditions are

(A) Necessary conditions
(B)  Sufficient conditions
(C)  Necessary and sufficient conditions

(D) Neither necessary nor sufficient
conditions

96.

97.

98.

Which of the following command is used
to move all files to the bin sub-directory
of the parent directory ?

(A) mv #.x/bin/

(B) mv «/bin/«

(C) mv «../bins.x

(D)  None of the above

What is Fuzzy Approximation Theorem
(FAT) ?
(A) Fuzzy set can be used to Model any

set

(B) Any smooth function can be
approximated by an Fuzzy set with
an appropriate structure

©) Al
approximated by Fuzzy set

step functions can be

(D) Fuzzy set can be approximated by
a probability function

A three-input neural network has the
weights 2, 5 and 3. The transfer function
is linear in which proportionality constant
is 3. If the input is {4, —1, 2}, what will
be the output ?

(A) 25
(B) 29
©) 27
(D) 21 »
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99.

Using public key cryptography, X adds a
digital signature o to message M, encrypts
<M, o> and sends to Y, where it is
decrypted. Which one of the following
sequences of keys is used for the
operations ?

(A) Encryption :

X’s private key followed by Y's
private key.

Decryption :
X’s public key followed by Y’s public
key.

(B) Encryption :

X’s private key followed by Y’s
public key.

Decryption :

X’s public key followed by Y’s
private key.

(C) Encryption :

X’s public key followed by Y’'s
private key.

Decryption :

Y’s public key followed by X's
private key.

(D) Encryption :

X’s private key followed by Y’s
public key.

Decryption :

Y’s private key followed by X's
public key.

100. Given the language L {ab, aa, baa}, whicl

of the following strings satisfy th
language ?

(a) abaabaaabaa
(b) aaaabaaaa

(c) baaaaabaaaab
(d) baaaaabaa
Code :

(&) (@), (b) and (d)
(B) (@), () and (d)
(© () (9 and (@)
(D) (@), (), (c) and (d)

~-000-
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